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daga Cilaglas
Ve (£8) Slaie¥) il S A sxe -
Aaiia (YA) glaie¥l i S Cilaia 22 -

i g 48 cOlaiaY) Al S Cladia 3o Gag ALY ad 5 (e Sl

(el EDE) SLERY) (e -

Ao (1) Jlasdd 4 As ol -

p Agling lagladl) oda 18, k) (¢ 30

ALY e ol Lo g Al dadie §f GlalieV) Al S dadie el gus s claddadll T 8
la) el J8 s 4 S5 iy J) sl 18

e JS 0 i Sanl g Al Y] oslhaall g ¢ o Ladld dan sia ALyl

S 3 23355 Y 5 e ) 3 a1 ol 5 a3 591 il A 05
AU Facadl dabuall b canl ciliall AU ebils) N

s Jbia

¢ Lal) 5 LY ae b sall Cilsiia S AAY) DSl (S s AT dal el dalal s 85 -
L o g Aila) (e ASE Cual o

. k8 (B) 4l (A) e el 4iay) Adad) Ay e elids) e

raa g ¢ e (e LAY Al (e dlidy) aie

i JST SRS DL Al ZaY) e JIall el 3 s iall Jls -

e (C) Aaal) LlaY) e

: dagaiall Aay)

®OE
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A3 500 A0l OYalaed) ae> COS|
Jelal dog pd 4S5 e
s AGY A e e

Write all the chemical equations balanced including
the conditions of the reaction:

Answer the following questions:

1. Choose to answer (a) or (b): (@) 91 (1) e Al ¥ pind -\

Write the scientific expression
indicated by the following statement:

(a) A chemical analysis which aims
to estimate the percentage of each
essential component of the substance.

(b) A solution with a known concentration
which is used to measure the unknown
concentration of another solution.

. Choose to answer (a) or (b):
Explain:

(a) On reacting hydrogen bromide with
propene, 2-bromopropane is formed
but 1-bromopropane is not formed.

(b) The boiling points of carboxylic acids
are higher than those of the alcohols
that have the same molecular mass.

zS)l..quc,leJmthgh.n@ham%aSt
A B ileass Jli (1)
0 (958 JS deus paas
Balel) Zewlu ¥ O gSat
St pgtae Joloa ()
S5 G po e
SN J ggmn s J gl

1(2) 91 (1) (e Al M1 i - ¥

s

e gy i e Jelad wie (1)
G9! s (e 9y ug !
Ol 99 -2 095y
Obgr 09 ~1 058 ¥y

B et e S e S )
A3 (3o el Al gy )31
Agludiadl OY g Ol
A 3t | ALST (3 Lgas
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3. Choose to answer (a) or (b): (@) 9l (1) He Al ¥ jxd Y
el a8 Al Oy al il

1 (A0 LS S¥alae (9) (et
399 pemagealtl ey (1)

By using silver nitrate, how to
distinguish between: (without writing
chemical equations)

Sp 93 guatll
(a) Sodium bromide and sodium iodide? | s, s, 2933 puall S S (i)
(b) Sodium sulphite and sodium sulphide? $2423 gucal|
4. In the following equilibrium system: Y (ISP {PRU-NA (- BES
Nag + 3Hyg === 2NH3g , AH=(-)

What is the effect of the following on the e 9313 Loo JS ,ali Le
rate of ammonia formation? §yoLaidt (98T Juase
First : Increasing temperature. Byl pomtl A ya Baly)y ¥ i
Second : Increasing pressure. daiall3als) Lol
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5. Choose the correct answer:
The law of mass action can be applied on:

Sodium chloride solution.
Ammonium acetate solution.

Potassium hydroxide solution.

® 06

Hydrochloric acid solution.

+ Aouall dala W1 i) -0
t e AST (Jad (9918 Fdat (Sa

pozagualliinelS Jgloe

P9 e Y Oliul Jgloe

9B 90 | S gyt J glme

©®Oo

L) iS gyl G Jgloe

6. Write one use only for each of the | daza fisiy Lotisiwl S -1
following compounds in the following | Jyusti 8 SLS watf (e JSI

table below: .
Name One use
¥ (dadd ulg) plisiw!
Poly vinyl chloride |
evey | e

(PVC) wjai8 Junld 1

[4]
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7. Show by chemical equations, how to obtain: | 4 &L OYslaatlmdg -V

Trinitrotoluene from benzene. N e
2l (ye (x5

8. The following reaction represents a galvanic cell: . adlals dds ey JLI Jolaidf -A

Mn + Ni?* — Mn?" + Ni

Knowing that: Jiia¥ ag g Ol Coale 3L
The standard reduction potentials of: PO ST dewlalt
Manganese (Mn) =—1.03 V —1.03V = ;s
Nickel (Ni)=—-0.23 V —0.23 V = st
First: Calculate the emf of the cell. st emf cows e o
Second: Write the cell diagram. Aol o SUaia ¥ o011 s Lot
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9. Show by chemical equations, how to S AGLeSH O¥ s Lty sy -4
distinguish between iron and magnetic iron | (st dcwSi g dadondf (et vl
oxide by using hot conc. sulphuric acid. fas AUl mcdolinal

O L3S padt Sy ST

[6]

r19/0-1A Joll joaJl - A=alpol Aulhhl) A A uj



VoAU YoAA ual 1 Alalt = T 9% 59l - (2 3-elad ¥ ARLILY) ¢ LoamecSH - Zhalatt A 93U Al 51 ALY B3lgs (3 lociat

10. Choose to answer (a) or (b):

Write the scientific expression indicated
by the following statement:

(a) A magnetic property which
characterizes the ions, atoms or
molecules that have unpaired
clectrons in the sublevel (d) orbitals.

(b) The process of collecting fine particles
of iron ores to obtain larger particles
suitable for reduction process.

11. Choose to answer (a) or (b):
Write the total reaction taking place in the:

(a) Fuel cell.
(b) Lithium ion battery.

() 91 (1) e Al ¥ jd -

JIa melalf llaiaal| LS|
15 latt le

Ol g ¥ 1 e dwdolide dusls (i)

S [ B N (P APV [ Y

B B3 pan GligSH| e (g g

() oo patt (6 el &Y Ly

Al Olecs prand Adac (©)

g3 Jged ST

H(22) 91 (1) (oo Apla W1 s -1 )
18 Calond | A Jo Lot A slae LOS)
EY-PURWEN()
o ads ()

[7]
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12. Choose to answer (a) or (b): () 91 (1) (e Al ¥ pid =\ Y
Show by a chemical equation the effect | i ddbeast Adalastly pudy
of acidified potassium permanganate on: | :cle ddesall pguulisd! Oliloia s

(a) Ethene. O (1)
(b) Ethanol. Iy ()
13. Explain: sy -\ Y

Titanium alloys with aluminum are used | &= po=3becd! cbibew pusius
in the manufacture of aircrafts and space | <!slaliaclis 2 a4 gl

shuttles. Alaal) OLS yolly
14. Choose the correct answer: s dsvouall Wl W ) -V ¢
On mixing two equal volumes of nitric O (rgbesin (o dald i

acid and potassium hydroxide solutions, | s gjimguls il e Joloe
the concentration of each of them equals | 0.25M Legis Js 38,3 2l g

0.25 M, the produced solution is: 55 gL J plonal 1 12
(@)  Neutral. sz (1)
®  Acidic. ¥ vl @
(©  Alkaline. Loz
(@  Amphoteric. Saye (3)
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The lead accumulator acts as an
electrolytic cell.

15. Choose the correct answer: s Asvoual) Al W) ) -0
When the external circuit of a lead o2 At Bl GlE e
accumulator is closed (discharged): (R oy p3) i lis y31 S ual

(@)  Lead atoms deposit on the anode. SE¥ e oo 13ty ey (1)

(b  Lead atoms oxidize and the ol Mo wuslis (O

concentration of the acid decreases. ol 38 53 g
(©)  Lead atoms oxidize and the pobio 3101 wusTas (3
concentration of the acid increases. coaamI ) 8 53 31359

A g YISY| S 65 pad il

16. Calculate the pH value of a weak (i 9 3l ¥ | Aa® | =\ Y
acid solution whose concentration is Biad pa e Jeloet pH
0.01mol/L knowing that its Ka =1 x 10~ 0.01mol/L s 38,3

A x107=a Ka ob lete

[9]
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17. The molecular formula C,H O »25 CoHg O ddgjadt dduall -1V
expresses two isomers. (O (i 3> (o Liha (o

First : Write the structural formula for | ys1 astidi aacati casi ¥ i
each of them.

Second : How canyoudistinguish between . ;
them? Tlogin umeard | EliSas aiS 1 LGS
18. Show by chemical equations: Ao LS OYaladtbiz—sg -\A
How to obtain black carbon (finely t e dain A8
divided carbon) from anhydrous sodium (1onadt 0 93,S31) (393,531 3 g
acetate. ALe M g gualt Sl (yo
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19. Choose to answer (a) or (b):
Write the chemical or common name for:

(a) The alcohol which is used in the
manufacture of Dacron fiber.

(b) The ester produced from the reaction
of salicylic acid and methanol.

H(2) 9 (1) oo Ayl ¥Y s =14
1 2L 9l (A LeaSI ¥ S
Iy LIpp WEN PR ()
.09 S1dd
o> Je lal (e Ut | Jw ¥ (9)
Jsibieed! ae Slibilit

20. Explain:

A mixture of salts (aluminum, sodium,
and calcium fluorides) is used instead
of cryolite to be mixed with bauxite on
extracting aluminum electrically.

z).m.ﬂ =Y.
plasiuly Cod 91 )31 e olatiun
Sl a8 Mol (p0 doglinse
poargealigpgciogt¥i e IS
L Cﬁ.qu.d! 2t p gt LI g

LS pgia gT Y o S

21. Choose the correct answer:

On passing an electric current in a copper
chloride solution (CuCl,) and using
platinum electrodes:

The concentration of the solution increases.
Chlorine gas evolves at the anode.

The mass of the cathode decreases.

®0e6E

Chlorine gas evolves at the cathode.

t Aovonal| Al B o =Y

9o B (2 068 HLG 5l pel e
(CuCly) gt uyygts
OO (pe wllad alisviwly

cJglonal | oS 5T 8l 5a @
AW e HglSI nebas @
sglspiass g

93180 wie et aelay (3)
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22. Calculate the equilibrium constant K¢ | K¢ o 33%1 Sl cows! =YY
for the following reaction: o L S ity
PCl; + Cl;= PCls
Providing that: ¢ PCL=4M ;8,5:0b ke
Iheconeenraion o LML a0
The concentration of CL.= 0.3M Cl=0.3M 58,3
23. Choose the correct answer: s Asvouall Al W s YV
Naphthaleneisa ............ compound. tOLS podl (o pllan (I Lt
(@)  Saturated aliphatic. At zsasy (1)
(b  Unsaturated aliphatic. Andiall il aslad¥ (Q
(©)  Saturated cyclic. Andiadl gty ()
(@  Unsaturated cyclic. Andiall i aatat ()
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24. Explain: sywd -YE
No free hydrogen ions can exist in the 13 0 (i gy | Ol g ¥
aqueous solutions of acids. Sl oles Y1 il 2

25. Choose to answer (a) or (b): () 91 (1) (e Mala W o3 -Yo

Show by chemical equations, Anle st o¥alastlbimiay

how to obtain: 1ole Juasd S

(a) Iron (I11) chloride from iron (I1T) oxide. | =<' (I s> o9 (1)
(D) sows

(b) Iron (IT) oxide from iron (IIT) hydroxide. -
o0 (ID s st (@)

(D) o> S gy
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26. A sample of 6 g of impure caustic soda | dlst 1sguall (ya due (o 6 g cadl -1
is dissolved in water and the solution is | yyisati gesi y sladl b 2ad) i
completed to one litre, If 25ml of this A
solution neutralizes with 18ml of 0.1M
sulphuric acid.

s (ye 25ml Jalat 3Ld ¢,
Jbos (e 18 ot Jg-lonst!
Ly S jaes 0 0. 1M

A9 LS 13 gl ) A s
et b

A e A ol Lele
pydg—atl e cu Sy g !
[NaOH=40]

calculate the percentage of caustic soda
in the sample.

Providing that: the molecular mass of
sodium hydroxide [ NaOH= 40 ]

27. First : Show by a chemical equation | adleesiitalastlypiny z;',i -tV

the preparation of ethyne gas in | ;.. 58 b e paan
the laboratory. ) ,
, Oelio¥ e Jasi s 1 Lol
Second : How to obtain acetaldehyde Sl e

from ethyne?
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28. Choose to answer (a) or (b):
Write the scientific expression

indicated by the following statement:

(a) The change in the concentration of

reactants per unit time.

(b) The reactions that proceed in both
forwardandbackwarddirectionsandthe
reactants and products are continuously

exit in the reaction medium.

29. Explain:

Transition elements are used as 1deal

catalysts.

1(2) 91 (1) e Aala W1 i - YA
13 ylall ole JI) (ol pellouaal LS
31gad oS 5 B pmiii e (1)

R SUENPOPE S TRV
OealiYI IS (B el S3Melai ()
Maadl eSSy ‘“,.uS.aJ‘j L‘S’)—h-”
539> g0 dmilidlg alelat ot

Jelaid) jus (2 )l el

s pwd =Y9Q
ATEOY poliall ausais
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30. Choose the correct answer: s Asvouall Al W 5 =Y
The compound which has the molecular | C4He dawar 4 gt oS ot
formula C H_belongs to the general iolall ik jond | Bicaaal | I ook
molecular formula of: \

@  CuHone

@ CnHZn-Z

@ CnH2n

@ CnH2n+1

31. Explain: sl =YY
The hydrolysis product of ester differs bt St il Calise
according to the type of the reaction Je it oy g9t LS oA
medium.

32. Show by a chemical equation the a5 A0 laSH A alaally g -1

effect of changing reactant concentrations | (i guse ;L dlelaialf slgalf 18,3
on the rate of the chemical reaction of )

y . . ddand | glna (o e
iron (IIT) chloride and ammonium (D &= “”"S.J . 9-' N
thiocyanate solutions. A1 Sliluugsd o
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33. Choose the correct answer: s Asvouall Al W 5 Y'Y

The compound TiO, is characterised as being: : 0L T102 oS pad iy
(@)  Paramagnetic and coloured. Oskey utolins h (1)
(b)  Diamagnetic and coloured. Oskey umboline s (Q
@ Paramagnetic and colourless. Oyl il o (oauadolile 15U @
@ Diamagnetic and colourless. O9le ;id g uutoline Lis @
34. Choose to answer (a) or (b): () 91 (1) pe Bala W1 T Y8

Show by chemical equations, AL OV slaally ady

how to obtain: ke Juasd CaS

(a) Benzamide from benzoic acid. il g 3 e (pa el (1)

(b) Diethylether from ethene. O ¥ (e Sl ¥ LS 80 ()
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35. Complete the table below to detect the | caisu S J gt JaSi -Y0
following cations:  Acal | OLgTISH Ge

Cation Group reagent for the Chemical formula of the
detected cation precipitate formed

O adst| 090U Ao gast| asls RYCw (PN 0L PP [P PO {

First: Calcium
cation

0918 :;fjs‘
Ay lsh

Second:
Aluminum
cation
03518 :Lols

?‘9:3.’4.93331
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36. When electroplating an iron spoon
with a layer of silver:

First

Second :

: Show by chemical equations

the reactions that occur at the
cathode and the anode.

Calculate the quantity of
electricity in Coulomb to
precipitate 10.8 g of silver
on the surface of the spoon
through the electroplating.
[Ag= 108]

ol e ddale oMb e -V
s Aaall (e Adday

s AT Ee L e g + ¥ g
29189 393 W pe JS e

sl S deS st LAk
o)DM pgt oI5 yd e
o108 g o
Aaalel| plaw o dadll

M tialae sl o5
[Ag=108] sL,¢10
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37. Choose to answer (a) or (b): 1(2) 91 (1) (e Wala W1 pd =YV
Write the scientific expression JIH el it 1 S|
indicated by the following statement: 5 yleatt ole
(a) Covering the metal which needs to dioles slyadl jall adais ()

protect fI:OIIl corrosion by another it s pay M ope
more active metal. ,
(b) A ptr(icedss otf chemlcal coriolmcg otf A ileasS ST Alas (o)
metals due to environmental effects. el da g1 o
38. If the solubility degree of aluminum e g yeed Olagh A yy COIS 13) -YA

hydroxide AI(OH), in water is 10°mol/L, | *t!'¢2 Al(OH)3 p gcin g1
A s 50/J50 107 a

Calculate its solubility product.
LAY Juals

39. Explain: ¢ puwd -Y4
Stopping the flow of the electric current in | 8,211 2 HLcd! Hg )0 28 gy
the external circuit of Daniel's cell when the | g2, wie JLo1s Zdst Lo st
salt bridge is removed from the cell. - WES (PR SPA TN (P JUNT-1 {
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40. Choose the correct answer: s Asvouall Bl W) ) -¢
Ethene gas reacts with bromine dissolved | Cliatiagdiase o ¥iile Jela
in carbon tetrachloride to produce: : B9 (33,501 318 o8
@)  1,1-dibromoethane. ol gagmitn— 1,1 (D)
@ 1,2-dibromoethane. Ol o9 L5 -2, 1 @
(©)  bromoethene. Okl sesn D
(@  bromoethane. Olisasn (3
41. Explain a practical experiment to VI Py VPV FRCAF Re- TR
show the effect of surface area of the OMeliiol plaw dnlus 5
reactants on the rate of reaction. Jelaitl Juae Lle
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42. Explain: ud =8 Y
The electronic configuration of copper aial (9 SN S I iy
element (,,Cu) is anomalous than that of | ces a0 (e (20CU) b
the expected electronic configuration. AT g gial o g ST

43. Choose to answer (a) or (b): 1(2) 91 (1) e Aala W o3 -£Y
Show by chemical equations, how to obtain: | :le Jad s S¥alaatl ray

(a) Acetone from 2-bromo propane. Olag 98953 - 2 (p O (1)
(b) Meta-chloro nitro benzene from benzene. | -5 o (i 520 9y5i8kice (o)
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44. Complete the table below to Alael I Jgdantt JaST - ¢
correspond the chemical name of the F AO U didual S ral @l

compound with its structural formula.

Chemical name Structural formula
S pod o AL Aaal
@ HCl HCHsH
: | | | | |
% H-C-C=C-C -C-H
= [ 11
H H H

.zJ
2 P 1ol
S~
_g yrogallo
S J9l e g et
A
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45. A sample of hydrated iron (I1I) (TIT) ot o )9l (yo dite Ciidvw = £0
chloride (FeCl, . X H,0), whose mass (FeClz . X H20) & yigio 1!
is 5.41g is strongly heated till its mass ol bl dasg 541 g Ll

becomes constant at 3.25 g. 3.25 g e wuls LGl Cono]
Calculate the number of crystallization | (X) »cdf sle Oliaj> de cuws
water molecules (X) of the hydrated S ydgialt (TIT) At 98 elat
iron (IIT) chloride salt. [Fe=56,Cl=35.5, ol Late
H=1,0=16]

[Fe=56,Cl=35.5,H=1, O =16]
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